ACHD Committed to Service

Ada County Highway District

Procurement

Shannon Shaffer, CCPB, NIGP-CPP, Acting Procurement and Contracting Administrator 3775 Adams St., Garden City, ID 83714

EVALUATION TABULATION

PWB No. CT222-14

Kootenai Street Traffic Calming Orchard to Vista Avenue Re-Bid

RESPONSE DEADLINE: July 6, 2022 at 3:00 pm Report Generated: Thursday, July 7, 2022

SELECTED VENDOR TOTALS

Vendor	Total
ESTIMATE	\$3,214,085.00
Capital Paving Company, Inc	\$3,474,406.06
Granite Excavation Inc.	\$3,613,053.00
Knife River Corporation - Mountain West	\$3,652,355.00

KOOTENAI ST TRAFFIC CALMING, ORCHARD ST TO VISTA AVE (SCHEDULE 1/821046/102930)

					Capital Paving	Company, Inc	ESTI	MATE	Granite Exc	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	0201.4.1.B.1	Clearing and Grubbing	1	LS	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$16,354.30	\$16,354.30	\$35,000.00	\$35,000.00
X	0201.4.1.C.1	Removal of Obstructions	1	LS	\$165,000.00	\$165,000.00	\$120,000.00	\$120,000.00	\$122,622.00	\$122,622.00	\$100,000.00	\$100,000.00

					Capital Pavin	g Company, Inc	EST	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	0202.4.1.A.1	Excavation (Plan Quantity)	1490	CY	\$50.00	\$74,500.00	\$34.00	\$50,660.00	\$43.00	\$64,070.00	\$35.00	\$52,150.00
Х	0202.4.5.A.1	Unsuitable Material Excavation	980	CY	\$25.00	\$24,500.00	\$39.00	\$38,220.00	\$37.00	\$36,260.00	\$24.00	\$23,520.00
Х	0202.4.8.A.1	Dust Abatement Water	2470	MG	\$1.00	\$2,470.00	\$17.00	\$41,990.00	\$0.01	\$24.70	\$1.00	\$2,470.00
X	0307.4.1.K.5	Soft Spot Repair Crushed Aggregate Base Material (0 to 10 cu. yds)	10	CY	\$150.00	\$1,500.00	\$50.00	\$500.00	\$317.00	\$3,170.00	\$150.00	\$1,500.00
Х	0307.4.1.K.7	Soft Spot Repair Crushed Aggregate Base Material (11 cu. yds and above)	540	CY	\$45.00	\$24,300.00	\$45.00	\$24,300.00	\$54.00	\$29,160.00	\$45.00	\$24,300.00
X	0307.4.1.K.9	Soft Spot Asphalt Surface Restoration	1640	SY	\$33.00	\$54,120.00	\$22.00	\$36,080.00	\$31.00	\$50,840.00	\$21.00	\$34,440.00
X	0601.4.1.A.5.12	12" Storm Drain/Gravity Irrigation Pipe, Class C900 PVC	1432	LF	\$175.00	\$250,600.00	\$85.00	\$121,720.00	\$95.00	\$136,040.00	\$105.00	\$150,360.00

					Capital Pavin	g Company, Inc	ESTI	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
х	0601.4.1.A.5.15	15" Storm Drain/Gravity Irrigation Pipe, Class SDR-35 PVC	788	LF	\$175.00	\$137,900.00	\$105.00	\$82,740.00	\$85.00	\$66,980.00	\$115.00	\$90,620.00
X	0601.4.1.A.5.18	18" Storm Drain/Gravity Irrigation Pipe, Class C905 PVC	110	LF	\$404.80	\$44,528.00	\$120.00	\$13,200.00	\$198.00	\$21,780.00	\$215.00	\$23,650.00
X	0602.4.1.E.1.060	60" Storm Drain Catch Manhole	1	EA	\$6,055.00	\$6,055.00	\$6,500.00	\$6,500.00	\$4,557.00	\$4,557.00	\$5,500.00	\$5,500.00
Х	0602.4.1.E.1.A	48" Gravity Irrigation Catch Manhole	2	EA	\$5,010.00	\$10,020.00	\$4,800.00	\$9,600.00	\$3,745.00	\$7,490.00	\$3,600.00	\$7,200.00
Х	0602.4.1.E.1.B	48" Storm Drain Catch Manhole	9	EA	\$5,010.00	\$45,090.00	\$4,800.00	\$43,200.00	\$4,035.00	\$36,315.00	\$3,600.00	\$32,400.00
Х	0602.4.1.F.1.1	Catch Basin - Type I	11	EA	\$1,512.00	\$16,632.00	\$1,400.00	\$15,400.00	\$1,214.00	\$13,354.00	\$1,100.00	\$12,100.00
Х	0602.4.1.F.1.5	Catch Basin - Type IV	1	EA	\$1,512.00	\$1,512.00	\$1,400.00	\$1,400.00	\$1,214.00	\$1,214.00	\$1,000.00	\$1,000.00
X	0602.4.1.H.1.1A	Precast Sediment Box - Size 1000 Gal	1	EA	\$5,170.00	\$5,170.00	\$5,500.00	\$5,500.00	\$5,674.00	\$5,674.00	\$6,500.00	\$6,500.00

					Capital Pavin	g Company, Inc	EST	IMATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	0602.4.1.K.1.15C	15" Dia. Gravity Irrigation Slide Gate - Type C- 10	1	EA	\$1,870.00	\$1,870.00	\$1,200.00	\$1,200.00	\$1,450.00	\$1,450.00	\$1,500.00	\$1,500.00
Х	0602.4.1.M.1	Concrete Irrigation Box - Size 4' x 4' O.D.	2	EA	\$3,877.50	\$7,755.00	\$4,000.00	\$8,000.00	\$3,198.00	\$6,396.00	\$3,300.00	\$6,600.00
Х	0706.4.1.A.1	Standard 3" Rolled Curb & Gutter	840	LF	\$25.50	\$21,420.00	\$25.00	\$21,000.00	\$36.00	\$30,240.00	\$45.00	\$37,800.00
Х	0706.4.1.A.3	6" Vertical Curb (No Gutter)	30	LF	\$35.00	\$1,050.00	\$40.00	\$1,200.00	\$36.00	\$1,080.00	\$40.00	\$1,200.00
Х	0706.4.1.A.5	Standard 6" Vertical Curb & Gutter	5840	LF	\$28.70	\$167,608.00	\$28.00	\$163,520.00	\$38.00	\$221,920.00	\$45.00	\$262,800.00
Х	0706.4.1.B.1	Concrete Valley Gutters	450	LF	\$37.42	\$16,839.00	\$53.00	\$23,850.00	\$42.00	\$18,900.00	\$55.00	\$24,750.00
Х	0706.4.1.D.1	Concrete Steps	40	SF	\$64.00	\$2,560.00	\$100.00	\$4,000.00	\$91.00	\$3,640.00	\$20.00	\$800.00
Х	0706.4.1.E.1	Concrete Sidewalks, Thickness 5"	2580	SY	\$44.86	\$115,738.80	\$54.00	\$139,320.00	\$68.00	\$175,440.00	\$65.00	\$167,700.00
Х	0706.4.1.F.1	Concrete Driveway Approach	760	SY	\$59.50	\$45,220.00	\$62.00	\$47,120.00	\$87.00	\$66,120.00	\$75.00	\$57,000.00
Х	0706.4.1.G.1	Concrete Repair	480	SY	\$59.50	\$28,560.00	\$62.00	\$29,760.00	\$109.00	\$52,320.00	\$100.00	\$48,000.00

Invitation To Bid - Kootenai Street Traffic Calming Orchard to Vista Avenue Re-Bid Page 4

					Capital Pavin	g Company, Inc	ESTI	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	0706.4.1.H.1	Ped. Ramp w/ Detectable Warning Domes, Temporary	6	EA	\$1,100.00	\$6,600.00	\$1,000.00	\$6,000.00	\$850.00	\$5,100.00	\$1,300.00	\$7,800.00
X	0706.4.1.H.1.A	Ped. Ramp w/ Detectable Warning Domes, Type A	22	EA	\$1,945.00	\$42,790.00	\$1,800.00	\$39,600.00	\$1,457.00	\$32,054.00	\$1,300.00	\$28,600.00
X	0706.4.1.H.1.C2	Ped. Ramp w/ Detectable Warning Domes Type C2	18	EA	\$1,945.00	\$35,010.00	\$1,800.00	\$32,400.00	\$1,457.00	\$26,226.00	\$1,300.00	\$23,400.00
Х	0706.4.1.H.1.G	Ped. Ramp w/ Detectable Warning Domes Type G	17	EA	\$1,945.00	\$33,065.00	\$1,800.00	\$30,600.00	\$1,457.00	\$24,769.00	\$1,300.00	\$22,100.00
Х	0706.4.1.H.1.H4	Ped. Ramp w/ Detectable Warning Domes, Type H4	5	EA	\$1,945.00	\$9,725.00	\$1,800.00	\$9,000.00	\$1,457.00	\$7,285.00	\$1,300.00	\$6,500.00
X	0802.4.1.A.1	Crushed Aggregate For Base Type I (Plan Quantity)	1490	CY	\$48.50	\$72,265.00	\$55.00	\$81,950.00	\$67.00	\$99,830.00	\$75.00	\$111,750.00
Х	0814.4.1.A.1	Plant Mix Pavement - Superpave SP-3	6980	TN	\$86.00	\$600,280.00	\$90.00	\$628,200.00	\$115.00	\$802,700.00	\$105.00	\$732,900.00

Invitation To Bid - Kootenai Street Traffic Calming Orchard to Vista Avenue Re-Bid Page ${\bf 5}$

					Capital Paving	g Company, Inc	ESTI	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1001.4.1.A.1	Sediment Control	1	LS	\$1.00	\$1.00	\$4,000.00	\$4,000.00	\$3,035.00	\$3,035.00	\$30,000.00	\$30,000.00
X	1001.4.2.B.1	Stabilized Construction Entrance	4	EA	\$1.00	\$4.00	\$1,500.00	\$6,000.00	\$998.00	\$3,992.00	\$700.00	\$2,800.00
Х	1003.4.1.B.1	Biofilter Bags	4500	LF	\$2.17	\$9,765.00	\$3.00	\$13,500.00	\$3.00	\$13,500.00	\$3.50	\$15,750.00
Х	1006.4.1.C.1	Inlet Protection	38	EA	\$64.90	\$2,466.20	\$75.00	\$2,850.00	\$75.00	\$2,850.00	\$75.00	\$2,850.00
Х	1102.4.1.B.1	Relocate Street Light	1	EA	\$3,450.00	\$3,450.00	\$2,500.00	\$2,500.00	\$3,843.00	\$3,843.00	\$3,500.00	\$3,500.00
X	1103.4.1.B.1	Traffic Control Signs	2200	SF	\$16.50	\$36,300.00	\$11.00	\$24,200.00	\$18.00	\$39,600.00	\$16.00	\$35,200.00
Х	1103.4.1.C.1.B	Traffic Control Barricades - Type II	10	EA	\$82.50	\$825.00	\$75.00	\$750.00	\$91.00	\$910.00	\$80.00	\$800.00
Х	1103.4.1.C.1.C	Traffic Control Barricades, Type III	20	EA	\$110.00	\$2,200.00	\$100.00	\$2,000.00	\$121.00	\$2,420.00	\$110.00	\$2,200.00
X	1103.4.1.C.1.D	Traffic Control Barricades - Type Longitudinal Channelizer	40	EA	\$198.00	\$7,920.00	\$120.00	\$4,800.00	\$218.00	\$8,720.00	\$190.00	\$7,600.00
X	1103.4.1.D.1	Traffic Control Drums	100	EA	\$49.50	\$4,950.00	\$20.00	\$2,000.00	\$54.00	\$5,400.00	\$48.00	\$4,800.00

					Capital Paving	g Company, Inc	ESTI	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1103.4.1.E.1	Adance Warning Arrow Pannel	2	EA	\$2,200.00	\$4,400.00	\$1,600.00	\$3,200.00	\$2,428.00	\$4,856.00	\$2,100.00	\$4,200.00
Х	1103.4.1.H.1	Portable Tubular Markers	50	EA	\$33.00	\$1,650.00	\$18.00	\$900.00	\$36.00	\$1,800.00	\$32.00	\$1,600.00
Х	1103.4.1.1.1	Traffic Control Flaggers	1150	МН	\$66.00	\$75,900.00	\$39.00	\$44,850.00	\$72.00	\$82,800.00	\$65.00	\$74,750.00
Х	1103.4.1.J.1	Traffic Control Maintenance	1000	МН	\$66.00	\$66,000.00	\$42.00	\$42,000.00	\$72.00	\$72,000.00	\$65.00	\$65,000.00
Х	1131.01.01.A	Rectangular Rapid Flashing Beacon - Complete (Wilson St), 821046.003, 201929	1	LS	\$53,259.00	\$53,259.00	\$38,000.00	\$38,000.00	\$58,801.00	\$58,801.00	\$55,000.00	\$55,000.00
Х	1131.01.01.B	Traffic Signal and Illumination System (Roosevelt St), 821046.006, 202219	1	LS	\$137,010.00	\$137,010.00	\$160,000.00	\$160,000.00	\$158,452.00	\$158,452.00	\$145,000.00	\$145,000.00

					Capital Paving	g Company, Inc	ESTI	MATE	Granite Exc	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	1131.01.01.C	Traffic Signal and Illumination System (Latah St), 821046.005, 202209	1	LS	\$122,925.00	\$122,925.00	\$160,000.00	\$160,000.00	\$142,162.00	\$142,162.00	\$130,000.00	\$130,000.00
X	1134.03.21	Pavement Markings (Paint)	26800	SF	\$1.10	\$29,480.00	\$1.00	\$26,800.00	\$1.25	\$33,500.00	\$1.10	\$29,480.00
Х	1134.05.21	Pavement Markings (Thermoplastic)	3260	SF	\$8.58	\$27,970.80	\$11.00	\$35,860.00	\$9.50	\$30,970.00	\$8.50	\$27,710.00
Х	1134.10.01	Channelizers (White)	53	EA	\$170.50	\$9,036.50	\$75.00	\$3,975.00	\$188.00	\$9,964.00	\$175.00	\$9,275.00
X	1135.01.01	Roadside Traffic Sign Installation (One Metal Post)	39	EA	\$168.30	\$6,563.70	\$175.00	\$6,825.00	\$186.00	\$7,254.00	\$165.00	\$6,435.00
X	1135.01.05	Furnish Roadside Sign Face	111	SF	\$21.56	\$2,393.16	\$25.00	\$2,775.00	\$24.00	\$2,664.00	\$20.00	\$2,220.00
Х	1135.01.06	Remove & Salvage Roadside Sign	25	EA	\$82.50	\$2,062.50	\$100.00	\$2,500.00	\$91.00	\$2,275.00	\$80.00	\$2,000.00
Х	1135.01.07	Relocate Roadside Sign	11	EA	\$180.40	\$1,984.40	\$150.00	\$1,650.00	\$199.00	\$2,189.00	\$180.00	\$1,980.00

					Capital Paving	g Company, Inc	ESTI	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Х	2010.4.1.A.1	Mobilization (10%)	1	LS	\$294,920.00	\$294,920.00	\$325,000.00	\$325,000.00	\$112,775.00	\$112,775.00	\$350,000.00	\$350,000.00
Х	2030.4.1.A.1.A	Stormwater Manhole - Adjust to Grade	12	EA	\$1,000.00	\$12,000.00	\$1,100.00	\$13,200.00	\$1,140.00	\$13,680.00	\$850.00	\$10,200.00
Х	2030.4.1.A.1.B	Irrigation Manhole - Adjust to Grade	2	EA	\$1,000.00	\$2,000.00	\$1,100.00	\$2,200.00	\$1,140.00	\$2,280.00	\$850.00	\$1,700.00
Х	2030.4.1.A.1.C	Sewer Manhole - Adjust to Grade	23	EA	\$1,000.00	\$23,000.00	\$1,100.00	\$25,300.00	\$1,140.00	\$26,220.00	\$850.00	\$19,550.00
Х	2030.4.1.A.1.D	Fiber Manhole - Adjust to Grade	4	EA	\$1,000.00	\$4,000.00	\$1,100.00	\$4,400.00	\$1,140.00	\$4,560.00	\$1,600.00	\$6,400.00
Х	2030.4.1.D.1	Miscellaneous Utility, Adjust to Grade	1	EA	\$1,000.00	\$1,000.00	\$1,100.00	\$1,100.00	\$1,140.00	\$1,140.00	\$1,300.00	\$1,300.00
Х	SP 06004	Seepage Bed, 5' D x 2' Width, 18" Pipe	100	LF	\$251.90	\$25,190.00	\$140.00	\$14,000.00	\$145.00	\$14,500.00	\$225.00	\$22,500.00
Х	SP 06034	Curb Inlet Modification	13	EA	\$1,320.00	\$17,160.00	\$1,350.00	\$17,550.00	\$1,825.00	\$23,725.00	\$1,100.00	\$14,300.00
Х	SP 09022.A	Concrete Headwall - 12"	1	EA	\$4,592.50	\$4,592.50	\$2,800.00	\$2,800.00	\$3,250.00	\$3,250.00	\$3,200.00	\$3,200.00
Х	SP 09022.B	Concrete Headwall - 15"	1	EA	\$4,840.00	\$4,840.00	\$3,500.00	\$3,500.00	\$3,175.00	\$3,175.00	\$3,500.00	\$3,500.00

Invitation To Bid - Kootenai Street Traffic Calming Orchard to Vista Avenue Re-Bid Page 9

					Capital Paving	g Company, Inc	ESTI	MATE	Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
Χ	SP 11500	Green Paint	500	SF	\$2.20	\$1,100.00	\$5.00	\$2,500.00	\$2.50	\$1,250.00	\$2.20	\$1,100.00
X	SP 11551	Pedestrian Temporary Traffic Control Plan	10000	CA	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
Х	SP 20110	Retaining Wall	430	SF	\$93.50	\$40,205.00	\$35.00	\$15,050.00	\$113.00	\$48,590.00	\$90.00	\$38,700.00
Х	SP 35020	Remove And Reset Existing Brick Pavers	15	SY	\$148.50	\$2,227.50	\$150.00	\$2,250.00	\$164.00	\$2,460.00	\$140.00	\$2,100.00
X	SSP 06013	Stormwater Management Plan Preparation And Approval	1	LS	\$8,855.00	\$8,855.00	\$3,000.00	\$3,000.00	\$8,643.00	\$8,643.00	\$10,000.00	\$10,000.00
Х	SSP 07005	Extruded Concrete Curb	1450	LF	\$15.40	\$22,330.00	\$18.00	\$26,100.00	\$37.00	\$53,650.00	\$25.00	\$36,250.00
Х	SSP 07013	Patterned Concrete	410	SY	\$67.40	\$27,634.00	\$65.00	\$26,650.00	\$164.00	\$67,240.00	\$100.00	\$41,000.00
Х	SSP 08115	Rotomill	32720	SY	\$3.00	\$98,160.00	\$2.50	\$81,800.00	\$2.75	\$89,980.00	\$3.00	\$98,160.00
Х	SSP 08125	Asphalt Repair - Other	550	SY	\$50.00	\$27,500.00	\$41.00	\$22,550.00	\$101.00	\$55,550.00	\$28.00	\$15,400.00
X	SSP 11001	Temporary Traffic Signal (Roosevelt & Latah Intersections)	2	EA	\$4,800.00	\$9,600.00	\$30,000.00	\$60,000.00	\$5,343.00	\$10,686.00	\$4,800.00	\$9,600.00

					Capital Pavin	g Company, Inc			Granite Ex	cavation Inc.		Corporation - ain West
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	SSP 11002	Portable Changeable Message Sign	800	HR	\$8.80	\$7,040.00	\$8.00	\$6,400.00	\$9.75	\$7,800.00	\$8.50	\$6,800.00
X	SSP 20009	Remove and Reset Fence	73	LF	\$40.00	\$2,920.00	\$50.00	\$3,650.00	\$61.00	\$4,453.00	\$95.00	\$6,935.00
Х	SSP 25050	4' Top Soil	480	SY	\$20.50	\$9,840.00	\$12.00	\$5,760.00	\$23.00	\$11,040.00	\$21.00	\$10,080.00
Х	SSP 25080	Remove and Reset Mailbox	2	EA	\$401.50	\$803.00	\$300.00	\$600.00	\$443.00	\$886.00	\$400.00	\$800.00
Х	SSP 29064	Sod Repair	480	SY	\$20.50	\$9,840.00	\$13.00	\$6,240.00	\$23.00	\$11,040.00	\$21.00	\$10,080.00
X	SSP 29067B	Repair Landscaping	540	SY	\$137.50	\$74,250.00	\$25.00	\$13,500.00	\$152.00	\$82,080.00	\$130.00	\$70,200.00
X	SSP 29090	Trim Tree	24	EA	\$137.50	\$3,300.00	\$300.00	\$7,200.00	\$212.00	\$5,088.00	\$135.00	\$3,240.00
X	SSP 29101	Remove & Reset Sprinkler System	2260	LF	\$20.50	\$46,330.00	\$12.00	\$27,120.00	\$23.00	\$51,980.00	\$20.00	\$45,200.00
Total						\$3,474,406.06		\$3,214,085.00		\$3,613,053.00		\$3,652,355.00

VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Capital Paving Company, Inc	ESTIMATE	Granite Excavation Inc.	Knife River Corporation - Mountain West
Bidder's Information	Pass	No Response	Pass	Pass
Address, City, State and Zip	Pass	No Response	Pass	Pass

Question Title	Capital Paving Company, Inc	ESTIMATE	Granite Excavation Inc.	Knife River Corporation - Mountain West
Contractor Public Works License Number	Pass	No Response	Pass	Pass
State of Domicile	Pass	No Response	Pass	Pass
Bidder's person to contact for additional information regarding this proposal	Pass	No Response	Pass	Pass
Bidder's Phone Number	Pass	No Response	Pass	Pass
Bidder's Fax Number	Pass	No Response	Pass	Pass
Email	Pass	No Response	Pass	Pass
COMPLIANCE CERTIFICATION	Pass	No Response	Pass	Pass
Bid Security	No Response	No Response	No Response	No Response
Bid Security	Pass	No Response	Pass	Pass
Electronic Bid Bond	No Response	No Response	No Response	Pass
Bid Security	Pass	No Response	Pass	Pass
Proposal Information	No Response	No Response	No Response	No Response
Proposal Statement Confirmation	Pass	No Response	Pass	Pass
Required Sub-Contractor Information - Type of Work, Name, Address, and License Number	Pass	No Response	Pass	Pass
Authorize Representative Signature	Pass	No Response	Pass	Pass